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BELAR—IL
W iT39I979 T TIsIIINY
IE {iz B E A OUT|I N| GROSS | HDCP NET %8
B Bk EBE+¥ 46| 45 91 23.0 68.0
EEHT HE 39 41 80 11.0 69.0
Mzl B 39| 45 84 13.0 71.0
AMialh s f2— 39 42 81 8.0 73.0
SGIfaiE fEE 46| 47 93 19.0 74.0
6fI|NEE  FAR 44| 49 93 19.0 74.0
hrjpiZE B 41| 44 41 11.0 74.0
8fr|h#E @k 51 49 100 25.0 75.0
Ofr|/hep  JIEF 43| 47 90 15.0 75.0
104L|F%x Rk 40| 48 40 13.0 75.0
1L|EE AR 50 47 97 21.0 76.0
1246Z ()1l FF0 48| 39 87 11.0 76.0
134|lu@ 2 45 43 88 12.0 76.0
146I(ILE Bk 52| 43 95 18.0 77.0
15GL|{555 B 40| 44 84 7.0 77.0
164(FaA A 46| 41 87 9.0 78.0
17462 FN £t 48| 48 96 18.0 78.0
184z|FR)Il 1 49| 47 96 18.0 78.0
19fzf/hvith B 45| 48 93 15.0 78.0
04ZER =E=1f 46| 43 89 10.0 79.0
2161|&% /I 45( 48 93 14.0 79.0
22fx|R21L AR 44| 48 92 13.0 79.0
23z |Z]"  8h 44| 52 96 17.0 79.0
241\ ILA FEF 45| 47 92 13.0 79.0
60| KA EF 49| 44 93 14.0 79.0
26| FIEE HF 50 49 99 20.0 79.0
214Z(E+z BEA 43| 42 85 5.0 80.0
28HIfRA —3 50 49 99 19.0 80.0
2961 FZFA ToUh 46| 56 102 22.0 80.0
SOGZ{IUE FHKE 50 53 103 23.0 80.0
SIGL|KEF  1EKER 44| 48 92 12.0 80.0
2(Z[AIH E— 50 52 102 22.0 80.0
G| A 41| 45 86 5.0 81.0
AGI| AT FOE 53| 40 93 12.0 81.0
354z S 45| 48 93 12.0 81.0
364I|REr HE 45 43 88 7.0 81.0
SIGLIERE =& 49| 50 99 17.0 82.0
38GI|IIUE 1 44| 42 86 40 82.0
9Gr|fe BFE 48 50 08 16.0 82.0
AOfI|FNE ZAEX 47| 45 92 10.0 82.0
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IE {iz B E A OUT|I N| GROSS | HDCP NET %8
MEITE B2 46| 51 97 15.0 82.0
1261\ KRSy [BR 50 47 97 14.0 83.0
36rjkHF HE 46| 50 96 13.0 83.0
AAGLFHFER =16 48| 52 100 17.0 83.0
ASfI|IUE & 47| 50 97 13.0 84.0
4661 HE BEF 56| 51 107 22.0 85.0
AR =& 49| 51 100 15.0 85.0
Bfr|hiE FE 49| 49 98 13.0 85.0
I v b NN 52| 51 103 18.0 85.0
S50GI|FEM #E 53| 45 98 13.0 85.0
S1GI|kikE 18 50 45 95 9.0 86.0
S52(I| Nk R=E 48| 49 97 11.0 86.0
S3fr|REE dHsR 46| 52 98 11.0 87.0
SAGI|HERE FEE 51| 48 99 11.0 88.0
ShirlEE Bh 59| 53 112 24.0 88.0
564iL|F (EFS 54/ 51 105 12.0 93.0
516 &R|RE 58/ 55 113 17.0 96.0
S8GI|RE HEHE 54| 52 106 10.0 96.0
E|ER = 60| 56 116 19.0 97.0
BREMMK B# 43| 49 92 26.0 66.0
BREES T 51| 44 95 26.0 69.0
BREIE) @0 46| 44 90 17.0 73.0
BEiRE 1L & 47| 44 91 17.0 74.0
BRELEER B 38| 43 81 2.0 79.0
BEREMR EA 54| 50 54 24.0 80.0
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